

Welcome pcruz@ppines.com | Logout

Need assistance? Contact us

Home Search Source Contracts Tools

View by Line Item | View by Supplier

Email Tabulation | Generate PDF | View Printable

## Bid #AD-21-04 - Kitchen Equipment for City of Pembroke Pines Charter Schools

Creation Date Mar 18, 2021 End Date Apr 20, 2021 2:00:00 PM EDT

Start Date Mar 23, 2021 6:14:29 PM EDT Awarded Date Not Yet Awarded

KC Foodservice Equipment Corp \$70,916.38 (20/20 items)

Bid Contact Ricardo Stark Address 8530 NW 61st Street

<u>sales@kcfoodservice.com</u> Miami, FL 33166 Ph 786-431-9652

Qualifications FL-EVERIFY PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTINIZED PP-SWORN PP-VENDORINFO PP-VOSB PP-W9

Bid Notes Lead Time: 1-4 Weeks.

 Agency Notes:
 Supplier Notes: Lead Time: 1-4 Weeks.

 Item #
 Line Item
 Unit Price
 Qty/Unit
 Total Price

 AD-21-04-01-01
 STEAM TABLE PAN, STAINLESS STEEL - First Offer
 \$9.05
 96 / each
 \$868.80

Product Code: SPJM-102

Agency Notes: Steam Table Pan, full size, 20-3/4" x 12-3/4" x 2-1/2" deep, 24 gauge, anti-

jamming, 18/8 stainless steel, NSF

AD-21-04--01-02 STEAM TABLE PAN, STAINLESS STEEL - First Offer \$12.26 96 / each \$1,176.96

Product Code: Supplier Product Code: SPJM-104

Agency Notes: Steam Table Pan, full size, 20-3/4" x 12-3/4" x 4" deep, 24 gauge, anti-

jamming, 18/8 stainless steel, NSF

AD-21-04--01-03 BUN/SHEET PAN - First Offer \$6.48 72 / each \$466.56

Product Code: Supplier Product Code: ALXP-1826

Agency Notes: Supplier Notes: Sheet Pan, full size, 18" x 26", closed bead, 18 gauge, 3003 aluminum

AD-21-0401-07	BUSSING UTILITY TRANSPORT CART - First Offer	\$147.52	1 / each	\$147.5
Product Code:		Supplier Product Code: FG45208	8BLA	
Agency Notes:		Supplier Notes: Material Handling	g/Heavy Duty Util pen base, polypro	ity Cart, 44"L x 25-1/4"W x 39"H, 500 lb opylene, (4) 5" thermoplastic rubber A
				T
AD-21-0401-08	INSULATED FOOD CARRIER - First Offer		3 / each	\$721.8
Product Code: Agency Notes:			arrier, end loade ep food pans, or ( stant to 200F, aut	(5) 2-1/2" deep food pans, insulated, comatic self-venting system, molded-in
AD-21-0401-09	PAN CARRIER DOLLY - First Offer	\$124.42	1 / each	\$124.4
Product Code: Agency Notes:		Supplier Product Code: DL300R0 Supplier Notes: Cateraide Pan Ca PC300N end loaders or any Catera polyethylene, black, NSF, Made in	rrier Dolly, platfo aide, top loader, 4	rm without handle, holds up to (2) !" heavy-duty non-marking swivel caste
AD-21-0401-10  Product Code: Agency Notes:	TILTING SKILLET BRAISING PAN, GAS - Alt 1	thermostat & ignition indicator light removable pour strainer, spring as adjustable bullet feet front, adjusta NSF, Standard one year limited wa	nts, electronic ign ssisted cover, 304 able flanged feet ırranty, Extended v/50/60/1-ph, cor	stainless steel construction, tubular le rear, 125,000 BTU, CSA Star, CSA Flame 2nd year warranty, for Schools and d and plug, standard, Etched markings
	Five 0% or	***************************************	4./	±40.700.4
Product Code:	First Offer	\$18,799.16   Supplier Product Code: VG40	1 / each	\$18,799.1
Agency Notes:		Supplier Notes: Braising Pan, Gas deep stainless steel pan with gallo assist cover with drip edge, pan he ignition, 12" stainless steel legs wit Star, UL EPH Classified, 1 year limit Nutrition extended warranty exter Original Equipment Warranty, not gas (specify elevation if over 2,000	n markings, pour older, solid state of h adjustable flanged parts & labor nds the warrant to exceed 24 mo ft.), 120v/60/1-ph ry Deck Mount Facook, NSF & Lead Fook, NSF & Lead Fook	for 12 months beyond the 12 month nths from date of installation, Natural n, 9.0 amps, cord & plug, standard, aucet, with backflow preventer, 16" add
AD-21-0401-11	GAS CONNECTOR HOSE - First Offer	\$171.91	1 / each	\$171.9
Product Code: Agency Notes:		Supplier Product Code: HG-4D-4	3 Sonnector Hose, 3	3/4" connection, 48"L, stainless steel

AD-21-0401-12	TRUCK, PLATFORM - First Offer	\$425.90	2 / each	\$851.80			
	TRUCK, PLATFORM - FIRST Offer		-	\$8.168			
Product Code: Agency Notes:		Supplier Product Code: WG2326 Supplier Notes: Global Industrial Cap. 8" Rubber Casters		ond Deck Platform Truck 60x30 2400 Lt			
AD-21-0401-13	WATER FOUNTAIN/BOTTLE REFILLING STATION - First Offer	\$887.31	1 / each	\$887.3			
Product Code: Agency Notes:		Supplier Product Code: 761218 Supplier Notes: Refrigerated Drinking Fountain with Bottle Filler, Filtered, by Glob Industrial					
AD-21-0401-14	ANTI-FATIGUE FLOOR MAT - First Offer	\$165.16	2 / each	\$330.3			
Product Code:	ANTITATIQUE LEGORIMAT TITSE OTICE	Supplier Product Code: 500-R35		4550.5.			
		drainage holes, tapered safety ed	ge all sides, grease	osed-cell nitrile textured rubber with e & slip-resistant, for kitchens, cooklines & behind counters, lightweight, red			
Product Code:	REACH-IN FREEZER - Alt 1	adjustable wire shelves, interior lij interior with stainless steel floor, 4 ph, 9.6 amps, NEMA 5-15P, Made - 7 year compressor (self-containe Warranty - 3 year parts and labor,	n, two-section, -10f ghting, stainless st 4" castors, R290 H in USA, cULus, UL ed only), please vis , please visit www.	F, (2) stainless steel doors, (6) PVC coate teel front, aluminum sides, aluminum ydrocarbon refrigerant, 1 HP, 115v/60/			
Product Code:	REACH-IN FREEZER - Alt 1	Supplier Product Code: T-49F-HC Supplier Notes: Freezer, reach-in adjustable wire shelves, interior lig interior with stainless steel floor, a ph, 9.6 amps, NEMA 5-15P, Made - 7 year compressor (self-containe Warranty - 3 year parts and labor, hinged left, right door hinged righ	, two-section, -10F ghting, stainless st 4" castors, R290 H in USA, cULus, UL ed only), please vis , please visit www.	F, (2) stainless steel doors, (6) PVC coate teel front, aluminum sides, aluminum ydrocarbon refrigerant, 1 HP, 115v/60/ EPH Classified, ENERGY STAR, Warrant sit www.Truemfg.com for specifics, Truemfg.com for specifics, Left door			
Product Code: Agency Notes:  Product Code:	REACH-IN FREEZER - Alt 1	Supplier Product Code: T-49F-HC Supplier Notes: Freezer, reach-in adjustable wire shelves, interior lig interior with stainless steel floor, 4 ph, 9.6 amps, NEMA 5-15P, Made - 7 year compressor (self-containe Warranty - 3 year parts and labor, hinged left, right door hinged righ height)  \$4,688.15  Supplier Product Code: M3F47-2 Supplier Notes: M3 Freezer, reac thermometer, door open beep, se system, smart fuzzy defrost, auto interior lighting, self-cleaning conc & locks, (6) PE coated wire shelves & back), aluminum interior with st	transport to the control of the cont	\$4,688.1  42.1 cu. ft., exterior LED digital nitroring system, hot gas condensate lelelays, door pressure release, LED hinged solid doors with recessed handlont & sides (galvanized steel top, bottor, top mount self-contained compressor, top mount self-contained compressor.			
AD-21-0401-16  Product Code: Agency Notes:  Product Code: Agency Notes:		Supplier Product Code: T-49F-HC Supplier Notes: Freezer, reach-in adjustable wire shelves, interior lig interior with stainless steel floor, 4 ph, 9.6 amps, NEMA 5-15P, Made - 7 year compressor (self-containe Warranty - 3 year parts and labor, hinged left, right door hinged righ height)  \$4,688.15  Supplier Product Code: M3F47-2 Supplier Notes: M3 Freezer, react thermometer, door open beep, se system, smart fuzzy defrost, autoi interior lighting, self-cleaning conc & locks, (6) PE coated wire shelves & back), aluminum interior with st R290 Hydrocarbon refrigerant, 27	transport to the control of the cont	ydrocarbon refrigerant, 1 HP, 115v/60// EPH Classified, ENERGY STAR, Warrant it www.Truemfg.com for specifics, Truemfg.com for specifics, Left door in castors, standard (adds 5" to OA  \$4,688.1!  42.1 cu. ft., exterior LED digital itoring system, hot gas condensate			

REACH-IN REFRIGERATOR - Alt 1

\$3,399.87

1 / each

AD-21-04--01-18

\$3,399.87

Product Code: Supplier Product Code: T-49-HC Agency Notes: Supplier Notes: Refrigerator, reach-in, two-section, (2) stainless steel doors, (6) PVC coated adjustable wire shelves, interior lighting, stainless steel front, aluminum sides, aluminum interior with stainless steel floor, 4" castors, R290 Hydrocarbon refrigerant, 1/2 HP, 115v/60/1-ph, 5.4 amps, NEMA 5-15P, cULus, UL EPH Classified, Made in USA, ENERGY STAR, Self-contained refrigeration standard, Warranty - 7 year compressor (self-contained only), please visit www.Truemfg.com for specifics, Warranty - 3 year parts and labor, please visit www.Truemfg.com for specifics, Left door hinged left, right door hinged right standard, 4" stem castors, standard (adds 5" to OA height) First Offer \$3,955.50 1 / each \$3,955,50 **Product Code:** Supplier Product Code: M3R47-2-N Agency Notes: Supplier Notes: M3 Refrigerator, reach-in, two-section, 42.3 cu. ft. exterior LED digital thermometer, door open beep, self-diagnostic monitoring system, hot gas condensate system, automatic fan motor delays, door pressure release, LED interior lighting, selfcleaning condenser device, (2) hinged solid door with recessed handle & lock, (6) PE coated wire shelves, stainless steel front & sides (galvanized steel top, bottom & back), aluminum interior with stainless steel floor, top mount self-contained compressor, R290 Hydrocarbon refrigerant, 1/3 HP, 115v/60/1-ph, 2.8 amps, NEMA 5-15P, ETL-Sanitation, cETLus, ENERGY STAR, 3 year parts & labor warranty, standard, Additional 2 year compressor warranty (5 year total), standard, Self-cleaning condenser device equipped, standard, Caster Set, swivel, locking front wheels, standard CABINET, COOK/HOLD/OVEN - First Offer AD-21-04--01-19 \$8,642.46 1 / each \$8,642.46 Supplier Product Code: 1000-CH-AL-2DE Product Code: Supplier Notes: Cook-N-Hold Cabinet, mobile, two compartment, radiant, insulated, Agency Notes: capacity (16) 18" x 26" angle pan slides on 3" center, (6) wire grids, solid state electronic control, LED digital display, standard controls, cook & hold cycles, field reversible doors, magnetic latches, anti-microbial latches, stainless steel interior, aluminum exterior, (4) 5" swivel casters (2) braked, cCSAus, CSA, Standard Warranty: 1 year labor, 2 years parts. Lifetime warranty on heating elements excluding labor, 208-240v/60/1-ph, 6.0 kW, 30.0 amps, NEMA 6-30P, standard AD-21-04--01-20 MOBILE HEATED CABINET - First Offer \$4,276.09 1 / each \$4,276.09 Supplier Product Code: 1000-HH-SS-2DE Product Code: Supplier Notes: Heated Cabinet, Mobile, two compartment, radiant, insulated, top-mount Agency Notes: heater assembly, (16) 18" x 26" or (16) 12" x 20" pan capacity, removable pan slides on 2-3/4" centers, (2) independent standard solid state electronic controls, LED digital displays, field reversible dutch doors, magnetic anti-microbial latches, stainless steel construction, (4) 5" swivel casters (2) with brakes, CSA-Sanitation, cCSAus, Standard Warranty: 1 year labor, 2 years parts warranty, 120v/60/1-ph, 1.8 kW, 15.0 amp, 6' cord, NEMA 5-20P, standard, Righthand door swing (top & bottom doors), standard

Beltram Edge Tool Supply, Inc. \$73,004.15 (20/20 items)

Bid Contact Rita Nurdin

rcroker@beltram.com Ph 813-239-1136

Address 6800 N. Florida Avenue Tampa,, FL 33604

Fax 813-985-6080

Qualifications FL-EVERIFY PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTINIZED PP-SWORN PP-VENDORINFO PP-VOSB PP-W9 Bid Notes

PLEASE NOTE: WE WILL MAKE EVERY EFFORT TO MEET YOUR 30 DAY DELIVERY REQUIREMENT BY WORKING CLOSELY WITH THE MANUFACTURERS. HOWEVER, WE CAN NOT ALWAYS GUARANTEE A 30 DAY DELIVERY TIME FRAME DURING THESE PANDEMIC TIMES. ALL MATERIALS WILL BE

CONSOLIDATED AT OUR WAREHOUSE UPON RECEIPT OF THE PURCHASE ORDER AND A MUTAL DELIVERY SCHEDULE WILL BE ARRANGED. QUOTE IS

Agency Notes:		DELIVERY REQUIREMENT BY WOR WE CAN NOT ALWAYS GUARANTE	RKING CLOSELY V EE A 30 DAY DELI' S WILL BE CONSO ER AND A MUTAL	
Item#	Line Item	Unit Price	Qty/Unit	Total Price
AD-21-0401-01	STEAM TABLE PAN, STAINLESS STEEL - First Offer	\$8.94	96 / each	\$858.24
Product Code: Agency Notes:		Supplier Product Code: 8800293 Supplier Notes:	1	
AD-21-0401-02	STEAM TABLE PAN, STAINLESS STEEL - First Offer	\$12.31	96 / each	\$1,181.76
Product Code: Agency Notes:		Supplier Product Code: 8800493 Supplier Notes:	1	
AD-21-0401-03	BUN/SHEET PAN - First Offer	\$7.28	72 / each	\$524.16
Product Code:		Supplier Product Code: 5324		
Agency Notes: AD-21-0401-04	LIFATED LIQUEDING DROOFING CARDNET MODILE. First Offer	Supplier Notes: \$2,439.66	5 / each	\$12,198.30
Product Code:	HEATED HOLDING PROOFING CABINET, MOBILE - First Offer	Supplier Product Code: C539-CF: Supplier Notes:		\$12,198.30
Agency Notes: AD-21-0401-05	NESTING PAN RACK - First Offer	\$331.75	4 / each	\$1,327.00
Product Code: Agency Notes:	NESTINGLAN INCK-TISCORE	Supplier Product Code: NR-20-X Supplier Notes:	47 each	¥1,327.00
AD-21-0401-06	BUSSING UTILITY TRANSPORT CART - First Offer	\$360.91	4 / each	\$1,443.64
Product Code:		Supplier Product Code: FG33558	BPLAT	
Agency Notes:		Supplier Notes:		
AD-21-0401-07	BUSSING UTILITY TRANSPORT CART - First Offer	\$222,48	1 / each	\$222.48
Product Code: Agency Notes:		Supplier Product Code: FG45208 Supplier Notes:		
AD-21-0401-08	INSULATED FOOD CARRIER - First Offer	\$242.32	3 / each	\$726.96
Product Code: Agency Notes:		Supplier Product Code: PC300NS Supplier Notes:	59	
AD-21-0401-09	PAN CARRIER DOLLY - First Offer	\$151.96	1 / each	\$151.96
Product Code: Agency Notes:		Supplier Product Code: DL300R0 Supplier Notes:	)3	
AD-21-0401-10	TILTING SKILLET BRAISING PAN, GAS - First Offer	\$17,175.09	1 / each	\$17,175.09
Product Code: Agency Notes:		Supplier Product Code: VG40 Supplier Notes:		
AD-21-0401-11	GAS CONNECTOR HOSE - First Offer	\$129.91	1 / each	\$129.91
Product Code: Agency Notes:		Supplier Product Code: HG-4D-4 Supplier Notes:	8K	
AD-21-0401-12	TRUCK, PLATFORM - First Offer	\$759.68	2 / each	\$1,519.36
Product Code: Agency Notes:		Supplier Product Code: PT30609 Supplier Notes: ALTERNATE ITEM NEW AGE PT3060P6 REFER TO ATTACHED SPECS		
AD-21-0401-13	WATER FOUNTAIN/BOTTLE REFILLING STATION - First Offer	\$1,152.44	1 / each	\$1,152.44
Product Code: Agency Notes:		Supplier Product Code: 761218 Supplier Notes:		
AD-21-0401-14	ANTI-FATIGUE FLOOR MAT - First Offer	\$143.91	2 / each	\$287.82
Product Code:		Supplier Product Code: 5000-R3	5	
Agency Notes:		Supplier Notes:		
AD-21-0401-15	REACH-IN FREEZER - First Offer	\$4,064.89	1 / each	\$4,064.89
Product Code: Agency Notes:		Supplier Product Code: M3F47-2 Supplier Notes:	-1 <b>N</b>	
AD-21-0401-16	COMBI OVEN, GAS - First Offer	\$14,496.92	1 / each	\$14,496.92
Product Code: Agency Notes:		Supplier Product Code: ABC7G-N Supplier Notes:	IAT	
AD-21-0401-17	GAS CONNECTOR HOSE KIT / ASSEMBLY - First Offer	\$129.91	1 / each	\$129.91
Product Code: Agency Notes:		Supplier Product Code: HG-4D-4 Supplier Notes:	8K	

AD-21-0401-18	REACH-IN REFRIGERATOR - First Offer	\$3,244.51	1 / each	\$3,244.51							
Product Code:	Supplier Product Code: M3R47-2-N										
Agency Notes:		Supplier Notes:									
AD-21-0401-19	CABINET, COOK/HOLD/OVEN - First Offer	\$7,901.65	1 / each	\$7,901.65							
Product Code:		Supplier Product Code: 1000-CH-AL-2DE									
Agency Notes:		Supplier Notes:									
AD-21-0401-20	MOBILE HEATED CABINET - First Offer	\$4,267.15	1 / each	\$4,267.15							
Product Code:		Supplier Product Code: 1000-HH-SS-2DE									
Agency Notes:		Supplier Notes:									

		Supplier Notes:		
Sam Tell and S	Son Inc			\$78,233.59 (20/20 items)
	FRED SMILOW <u>fsmilow@samtell.com</u> Ph 631-501-9700	Address <b>300 SMITH</b> FARMINGD	STREET ALE, NY 11735	
	FL-EVERIFY PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTI	NIZED PP-SWORN PP-VENDO	DRINFO PP-VOS	B PP-W9
Agency Notes:		Supplier Notes:		
Item#	Line Item	Unit Price	Qty/Unit	Total Price
AD-21-0401-01	STEAM TABLE PAN, STAINLESS STEEL - First Offer	\$7.50	96 / each	\$720.00
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
AD-21-0401-02	STEAM TABLE PAN, STAINLESS STEEL - First Offer		96 / each	\$985.92
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
AD-21-0401-03	BUN/SHEET PAN - First Offer		72 / each	\$432.72
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
AD-21-0401-04	HEATED HOLDING PROOFING CABINET, MOBILE - First Offer	\$3,162.93	5 / each	\$15,814.65
Product Code:		Supplier Product Code:		
Agency Notes: AD-21-0401-05	NESTING PAN RACK - First Offer	Supplier Notes: \$415.00	4 / each	\$1,660.00
Product Code:	NESTING LANGER-HISEORE	Supplier Product Code:	47 Each	\$1,000.00
Agency Notes:		Supplier Notes:		
AD-21-0401-06	BUSSING UTILITY TRANSPORT CART - First Offer	\$390.59	4 / each	\$1,562.36
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
AD-21-0401-07	BUSSING UTILITY TRANSPORT CART - First Offer	\$235.01	1 / each	\$235.01
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
AD-21-0401-08	INSULATED FOOD CARRIER - First Offer		3 / each	\$979.80
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
AD-21-0401-09	PAN CARRIER DOLLY - First Offer		1 / each	\$180.18
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
AD-21-0401-10	TILTING SKILLET BRAISING PAN, GAS - First Offer	\$16,819.31	1 / each	\$16,819.31
Product Code:		Supplier Product Code:		
Agency Notes: AD-21-0401-11	GAS CONNECTOR HOSE - First Offer	Supplier Notes: \$142.45	1 / each	\$142.45
Product Code:	GAS CONNECTON TIOSE - TIISE OTHER	Supplier Product Code:	17 each	CP.341¢
Agency Notes:		Supplier Notes:		
AD-21-0401-12	TRUCK, PLATFORM - First Offer	\$1,002.82	2 / each	\$2,005.64
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
AD-21-0401-13	WATER FOUNTAIN/BOTTLE REFILLING STATION - First Offer	\$1,001.15	1 / each	\$1,001.15
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
AD-21-0401-14	ANTI-FATIGUE FLOOR MAT - First Offer	\$161.67	2 / each	\$323.34
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
AD-21-0401-15	REACH-IN FREEZER - First Offer		1 / each	\$4,250.74
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
AD-21-0401-16	COMBI OVEN, GAS - First Offer		1 / each	\$15,661.31
Product Code:		Supplier Product Code:	· '	
Agency Notes:		Supplier Notes:	-	
AD-21-0401-17	GAS CONNECTOR HOSE KIT / ASSEMBLY - First Offer		1 / each	\$142.45
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

AD-21-0401-18	REACH-IN REFRIGERATOR - First Offer	\$3,366.98	1 / each	\$3,366.98			
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
AD-21-0401-19	CABINET, COOK/HOLD/OVEN - First Offer	\$7,838.55	1 / each	\$7,838.55			
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
AD-21-0401-20	MOBILE HEATED CABINET - First Offer	\$4,111.03	1 / each	\$4,111.03			
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

Agency Notes:		Supplier Notes:		
TriMark Strate	gic			\$84,828.10 (20/20 items)
<u>a</u>	Amy Leasure amy.leasure@trimarkusa.com Ph 972-896-9893	Address <b>5843 Barry</b> <b>Tampa, FL</b>		
Qualifications <b>F</b>	L-EVERIFY PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTI	NIZED PP-SWORN PP-VENDO	DRINFO PP-VOS	SB PP-W9
Agency Notes:		Supplier Notes:		
Item#	Line Item	Unit Price	Qty/Unit	Total Price
AD-21-0401-01	STEAM TABLE PAN, STAINLESS STEEL - First Offer	\$11.00	96 / each	\$1,056.00
Product Code:		Supplier Product Code: ABC #88	002931	
Agency Notes:		Supplier Notes:		
AD-21-0401-02	STEAM TABLE PAN, STAINLESS STEEL - First Offer	\$15.15	96 / each	\$1,454.40
Product Code: Agency Notes:		Supplier Product Code: ABC #88 Supplier Notes:	004931	
AD-21-0401-03	BUN/SHEET PAN - First Offer	\$8.95	72 / each	\$644.40
Product Code:		Supplier Product Code: ABC #53	24	
Agency Notes:	LIEATED LIQUIDING DROOFING CARINET MODILE. First Offer	Supplier Notes:	5 / each	#15 100 00
AD-21-0401-04 Product Code:	HEATED HOLDING PROOFING CABINET, MOBILE - First Offer			\$15,100.00
Agency Notes:		Supplier Product Code: METRO : Supplier Notes:	#C339-CF3-4	
AD-21-0401-05	NESTING PAN RACK - First Offer		4 / each	\$1,600.00
Product Code: Agency Notes:		Supplier Product Code: ADVANC Supplier Notes:	E #NR-20-X	
AD-21-0401-06	BUSSING UTILITY TRANSPORT CART - First Offer	\$375.00	4 / each	\$1,500.00
Product Code: Agency Notes:		Supplier Product Code: RUBBER Supplier Notes:	MAID #FG335588F	PLAT
AD-21-0401-07	BUSSING UTILITY TRANSPORT CART - First Offer		1 / each	\$235.00
Product Code:		Supplier Product Code: RUBBER	MAID #FG452088E	BLA
Agency Notes:		Supplier Notes:		
AD-21-0401-08	INSULATED FOOD CARRIER - First Offer	\$260.00	3 / each	\$780.00
Product Code:		Supplier Product Code: CARLISLI	E #PC300N59	
<b>Agency Notes:</b> AD-21-0401-09	PAN CARRIER DOLLY - First Offer	Supplier Notes: \$145.00	1 / each	\$145.00
Product Code:	PAIN CARRIER DOLLT - FIISt OHEI	Supplier Product Code: CARLISLI		\$145.00
Agency Notes:		Supplier Notes:	L #DESCONOS	
AD-21-0401-10	TILTING SKILLET BRAISING PAN, GAS - First Offer	\$20,340.00	1 / each	\$20,340.00
Product Code: Agency Notes:		Supplier Product Code: VULCAN Supplier Notes:	#VG40	
AD-21-0401-11	GAS CONNECTOR HOSE - First Offer	\$145.00	1 / each	\$145.00
Product Code: Agency Notes:		Supplier Product Code: T&S #HC Supplier Notes: INCLUDED IN VU		AN
AD-21-0401-12	TRUCK, PLATFORM - First Offer	\$660.00	2 / each	\$1,320.00
Product Code: Agency Notes:	TROCKET BATTORIA FILSCOLO	Supplier Product Code: RUBBER Supplier Notes: 2500 LB CAPACIT	MAID #FG447100E	
AD-21-0401-13	WATER FOUNTAIN/BOTTLE REFILLING STATION - First Offer		1 / each	\$1,050.00
Product Code:	TO THE REPORT OF THE REFERENCE STATION THIS CHEE	Supplier Product Code: GLOBAL		¥1,656.66
Agency Notes:		Supplier Notes:	I	
AD-21-0401-14	ANTI-FATIGUE FLOOR MAT - First Offer		2 / each	\$328.30
Product Code: Agency Notes:		Supplier Product Code: CACTUS Supplier Notes:	#5000-R35	
AD-21-0401-15	REACH-IN FREEZER - First Offer		1 / each	\$5,140.00
Product Code:	NEACHTHALINETELL - HISTORIEL	Supplier Product Code: TURBO		ψ3,140.00
Agency Notes:		Supplier Notes:		
AD-21-0401-16	COMBI OVEN, GAS - First Offer	\$17,560.00	1 / each	\$17,560.00
Product Code:		Supplier Product Code: VULCAN	#ABC7G-NAT	

AD-21-0401-17	GAS CONNECTOR HOSE KIT / ASSEMBLY - First Offer	\$145.00	1 / each	\$145.00					
Product Code:		Supplier Product Code: T&S #HG-4D-48K							
Agency Notes:		Supplier Notes:							
AD-21-0401-18	REACH-IN REFRIGERATOR - First Offer	\$4,140.00	1 / each	\$4,140.00					
Product Code:		Supplier Product Code: TURBO AIR #M3R47-2-N							
Agency Notes:		Supplier Notes:							
AD-21-0401-19	CABINET, COOK/HOLD/OVEN - First Offer	\$7,935.00	1 / each	\$7,935.00					
Product Code:		Supplier Product Code: CRES COR #1000-CH-AL-2DE							
Agency Notes:		Supplier Notes:							
AD-21-0401-20	MOBILE HEATED CABINET - First Offer	\$4,210.00	1 / each \$4,210.00						
Product Code:		Supplier Product Code: CRES COR #1000-HH-SS-2DE							
Agency Notes:		Supplier Notes:							

Close

Questions? Contact a Periscope Source representative: 800-990-9339 or email: source-support@periscopeholdings.com

Home Bid Search Bids Orders Tools Support Privacy Logout

in 🏏 f 🛗

Copyright @ 2020 - Periscope Holdings, Inc. - All rights reserved.

Comments	Supplier Notes for Offer	Additional Information	Method of Submittal	Bid Security (N/A, Bid Bond, Cashier's Check, Not Submitted)	- E-Verify System Certification Statement	- Scrutinized Company Certification	- Vendor Drug-Free Workplace Certification Form	- Equal Benefits Certification Form	- Veteran Owned Small Business Preference Certification	- Local Business Tax Receipts	- Local Vendor Preference Certification	- Sworn Statement on Public Entity Crimes Form	- Form W-9 (Rev. October 2018)	- Vendor Information Form	VENDOR REGISTRATION AND QUALIFICATION DOCUMENTS	- Attachment C: Proposer's Qualifications Statement	- Attachment B: Non-Collusive Affidavit	- Attachment A: Contact Information Form	PROPOSAL REQUIREMENTS	TOTAL BID AMOUNT	Contact Information (From Attachment A)	Vendor Name	
None	* Lead Time: 1-4 weeks	* Supplied Pan and Gas Heater Specs	BidSync	N/A	Included	Included	Included - Complies Fully	Included - Currently Complies	Included - Does Not Meet Requirements	LBTR - Miami-Dade County	Included - Does Not Meet Requirements	* A. Neither the entity nor any officers who are active in management nor any affiliate have been charged with a public entity crime.	Included	Included		Included	Included	Included		\$70,916.38	Company Information: 8830 NW 61 st Street Manni, Florida, 33166 Tel: (786) 431-9652 sales@kdrodsen/ice.com Primary Contact: Ricardo Stark President Tel: (306) 477-7798 Fax: (305) 402-0422 Authorized Approver: Same as above	KC Foodservice Equipment Corp.	
None	We will make every effort to meet your 30 day delivery requirement by working closely with the manufactures. However, we can not aslways guarantee a 30 day delivery time frame during these pandernic times. All materials will be consolidated at our warehouse upon receipt of the purchasse order asrd a mutual deliver schedule will be arranged. Quote is based on one delivery to one location.	* Supplied Detailed Quote with Specs	BidSync	N/A	Included	Included	Included - Complies Fully	Included - Currently Complies	Included - Does Not Meet Requirements	LBTR - Hillsborough County	Included - Does Not Meet Requirements	*A. Neither the entity nor any officers who are active in management nor any affiliate have been charged with a public entity crime.	Included	Included		Included	Included	Included		\$73,004.15	Company Information: 11101 N 46th Street 11101 N 46th Street Tampa, FL 33604 Tel: (813) 985-8870 Fax: (813) 985-8870 Fax: (813) 985-8870 Finary Contact Rita Croker - Institutional Sales Coordinator Tel: (813) 985-8870 x 3302 rcroker@beltram.com Authorized Approver: Marty Levenstiem - V P Purchasing milevenstiem@the-ifg.com	BDA Beltram Edge Tool Supply, Inc.	IFG Inc.
None	None	None	BidSync	NA	Included	Included	Included - Complies Fully	Included - Currently Complies	Included - Does Not Meet Requirements	* Not Supplied	Included - Does Not Meet Requirements	*A. Neither the entity nor any officers who are active in management nor any affiliate have been charged with a public entity crime.	Included	Included		Included	Included	Included		\$78,233.59	Company Information: 300 Smith Street Farmingdale, NY 11735 Tel: (631) 501-9700 Primary Contact: Fred Smilow fsmilow@samtell.com Authorized Approver: Same as above	Sam Tell and Son Inc.	
None	None	* Supplied Detailed Quote with Specs	BidSync	NA	Included	Included	Included - No designation chosen	Included - Currently Complies	* Not Supplied	LBTR - Hillsborough County	Included - Does Not Meet Requirements	* A. Neither the entity nor any officers who are active in management nor any affiliate have been charged with a public entity crime.	Included	Included		Included	Included	Included		\$84,828.10	Company Information: 5843 Barry Road Tampa, FL 33634 Tel: (972) 896-9893 Fax: (813) 983-2165 Primary Contact: Amy Leasure @ rimarkusa.com Authorized Approver: Same as above	DBA TriMark Strategic	Strategic Equipment, LLC

City of Pembroke Pines
Bid Tabulation - Procurement
IFB # AD-21-04
Kitchen Equipment for City of Pembroke
Pines Charter Schools